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1. Which of the following sbout data-structurs are true?
(A)Hash method is usod for searching
(B) The operation of stack is Last In First Out
(C) The operation of queus is First In Last Out
(D)Sequential storage, array, is useful for frequent insextion and deletion.

2. Which of the followings are functions of s DBA in databasc processing?
{A) Schema definition
(B) Transaction management
{C) Data back-up
(D) Mount tapes.
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. Which of the followings are the correct? | |

(A) The hierarchy of stored dats is “Database >= record >=: filo >= ficld >= byte >= bit"

(B) The hierarchy of stored data is “Database >= filo >= record >= field >= byte >= bit"

(C) A client-server system is a muiti-user database architecture in which one computer procesacs the database, and other
computera in the network process application programs

{D) A client-sexver system is 2 multi-user database architecture in which part or all of the databases are duplicated on more
than one computer.

. Which of the following statemnents in relational database are CORRECT?

(A) Bvery value in a relation must be simple and single-valued

(B} The type of DBMS xtores data in the form of tables is network

{C) A key attribute can have NULL aa its value

{D) A primary key is an attribute that uniquely identifies esch row in s relation,

. Which of the followings are ot the purposs for table notmalization in database design?
(A)Speed up query processing

(B) Avoid update anomalies

(C) Avoid data redundancy

{D)Easy for table design.

. Which of the foliowings are charactertstics of a data warchouse?
(A)Application independent

(B) Multiple subjects

(C)Design to facilitats management decision making

(D)¥Few internal and extemal sources.

. Which of the followings are the correct?

(A)The only language that s computer can directly understand is called that computer’s high-level Imnguage.
(B) In a computer, CPU coordinates the activities of all the other logical units

{C) In a computer, memory upit and secondary storage unif retaing indoemation

{D}In a computer, outpit unit receives information from cutside the computer for use by the computer.

. Which of the followings sre not the stages of system development fife cycle?
{(A)System analysis

(B) Project management

(C) Document writing

(D}Coding

. Which of the followings are the characters of object-oriented programming (OOP)?
(A)Recursive computing

{B) Encapsulstion

(C) Polymorphism

(D) Inhevitance
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10. Which of the followings are the comect?
(A)if ( age »= 65 ); |

cout << “Agn is greater than or equal to §5" << endl;
clse

coyt << “Ages is lean than 65 << endl";
(B)intx =1, 1otal =0;
while {x <= 10) {
total +=x;
++X:
}
(C)int x = 100, tots] = 0;
while (x > D) {
otal +=x:
-~X;
}
(D)while (y >0) {
cont << y << endl;
+y,

l
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1. Answer the following:

(A)Given a binary tree whose preorder sequence is “ILIKEAPPLE" and inorder sequence io"ILEKAIPPEL", Ploase draw

the tree and find its postorder sequence?
(B) In a relational database table “Student”, plsase write » SQL command to retrieve the three flelds  “Name™, “Telepbone”
and “Address”, order by “Name"™, of the students whose last name (the beginning character of the field “Name") is “3E",

2. Define the following:
(A) Data flow diagram (DFD)
(B) E-R Disgram
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